11/2"

6//

DATE

DESIGNED BY

QUANTITIES BY

TRACED BY
CHECKED BY

DRAWN BY

PLAN

ORIGINAL SURVEY PLOTTED BY

NOTE BOOK

” ST | swre | emoorno | Fecat [SHEST SO
1/4" .62_’_/_?9 %‘, HAWAII | HAW. | 99D/G-01-08 | 2008 | 55 | &9
1 < All Aluminum 6061T6 Alloy and ! l l l I l I l
A Stainless Steel Components. - Swing Sign
X ! — | — | Brackefs
| il Signal Lights
= [ | B n
18 172" 14" W]
Fully Fully - ) /
\ , E xtended Closed . , .
) \ 2 J Overall Overall i’ﬁ,,”a/ Mast Street Name Sign Varies
N Length Length
5 > N . g g
T Ce ey ©
‘ | ' Signal Pole —=
V r
ﬁ —— Sign | 1172 M | § v
. 3/ //\ ) C | N, 10
/8" from botfom of sign S~ S STREET NAM ; S N_MOUNTING
mounting hole to bottom of ‘L\\ NOTES: @> IN MAST ARM
brackef. Dimensions may vary slightly. = NOT 70 SCALE
_M@_LENGTH NQN-ADJU STABLE CQD—V- o
NOT 70 SCALE | @] Ve Oy Varies . Varies B0 — Auminum Angle sscured fo
j N ' back of sign w/Pop Rivets @
Pivotal Upper Bracket | = 50 Adjustable >H Fl H 6" spacing
é Allows |19 ~ Swing Sign R ———
15/8" x 174" Slot for double strapping to electrolier mast arm. (M2G-34S(HD) .030" x 3/4" ( > | enath Bracket (typ) % :
Heavy Duty Stainless Steel Strap with M2G-34B(HD) Buckle recommended.) 4) T Ad jus?menf Ny | <—— Sireef Name Sign
| of 41/2" &
172" - 13 x 1 172" Stainless Stesl Hex Head Bolt with Stainless Steel Hex Lock Nut and 1/16 ADJUSTABLE LENGTH 3/4" _T «\— R=2"
Stainless Steel Washer (both sides). Allows upper bracket fo pivot and align with electrolier j Varies
mast arm. I — S SWING SIGN BRACKET = (Rear View) =
~ —olgn NOT TO SCALE |
6" Overall drop with Fixed Length Sign Bracket 1 PANEL & SWING BRACKET LAYOUT
Stainless Steel Dampener Spring (Removable) -E-OR S TR&T NA—M—E———SJQ—N

NOT TO SCALE
Stainless Steel Hex Lock Nutf with 1/16” Stainless Steel Washer

1" 0.0. Axle Housing | NOTES:

. Streef name signs shall have white message and
border on green background.

2. All sign faces shall be completely reflectorized
with Type “B" reflective sheeting.

172" - 13 x 4" Stainless Steel Hex Head Bolt with 1/16" Stainless Steel Washer

Oilite Bushing

FOEEO® & GO

Sign Mounting Sets, consisting of two each 5/16" - 18 x 1" Stainless Steel Hex Head Bolt with | 3. The sign shall be in conformance with the
Stainless Steel Hex Lock Nut. Two holes on 1 1/2" centers provide positive lock sign mounting requirements of Section 750 of the Standard
fo brackef. Specification.

8 174" overall length Upper Adjustable Sign Bracket section

9" overall length Lower Adjustable Sign Brackef section, including Axle Housing (8" overall
length to fop of Axle Housing)

STATE OF HAWAII

172" - 13 x 1 172" Stainless Steel Hex Bolt with Stainless Steel Hex Lock Nut and 1/16” DEPARTMENT OF TRANSPORTATION

HIGHWAYS DIVISION

Stainless Steel Washers (both sides). Loosen lock nut, adjust bracket feeth fo level sign.

1174" x 11/4" x 178" Aluminum Angle

& & &

TRAFFI C PER |
VICINITY OF ACACIA ROAQ 70 CE NTE R DRIVE |
PROJECT NO. 99D/G-01-08

Scale: As Shown Date: April 2008
SHEETNo. [S-36 OF 36 SHEETS

55




